t 9&% HH @ i bon phan sd, thi ty cac phép toan

Tén: Ngay thang: Piém:

3 3 3 3 2 1 3 1

S+l 4+IxI= L _xZ4l=
2 5 2 2 3 2 5 6
1 1 1 1 1 3

X —— = e84 2=
6 3 3 53 805 %8%3

2xg+2+l: l+lxl+l:
5 3 2 3 4 3
1 2 2 3 1 3

100% = ~10— = = 2.3 1 .3_
00> 51073 5 4 65

18xl+2—%: %—%+lx§:
4 5 3 5 2 5

www.snowmath.com


https://www.snowmath.com

t 9@% B!] e i bon phan sd, thi ty cac phép toan

Tén: Ngay thang: Diém:
3 3 3 3 487 7 2 1 3 1 8
T4+ I 4+ x = =4—_ - x4 =_
2 5 2 2 20 20 3 2 5 6 15
1 1 1 1 7 1 3 28 3
-t =X == == — 80X = +8+ —= — =5-
6 3 3 5 9 2 5 5 5
2><_+2+1=_1_1_ l+lxl+l=£

3 1 2 3 4 3 12

2 13 1 2 3 1 3 9
1 —+10— == — =4- —— == =X = =(—=
00 35+10=3=5 743 5732 6°5 )
1
5 20 20 35 2 5 30

www.snowmath.com



https://www.snowmath.com

